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PR AT VN IRXIND DR P DR ,NNY RPIA RN NYRINNI IRRIND 1D ;NN
JYRINNN ARXINN

SININ N NIV WNRNYWNI DNON ININ NN HYan .17
NRNNA P,-1Y P2 Y NN NI NN NR 1)

PN .M \/§+\/§ NN Hyann 2 0"n 'm Yy -2 130 M7 X -1 DYNnwn ok

A Hyann
X p,
.—=—2 MDD NRYPNN TVRI HHNOPHNN NP, VXPNN PIPRL D NN R
Yy B
, P, = @100, P, = @ 3,000 )N DR Y9°0pN NXPA 1P DNIAY Y- X 29N .2
. A= m 372,500
miNIna

R(X)=-0.6x*+120x , x>0 X (2 x(p)=40-4p A x>0 .7 16 3 7.2 9 & (1
A x20 % (4 p(x)=-0.08x+40 3 x>0 .x(3 x=180 . 2160 :11712,108 :nn .2
R'(x)=-0.08x+100 P A(R=0x 4 ,R(x)=-0.04x* +100x
,R(x)=-6x°+240x* +1800x R (5 R, =62500 , x=1250 T

33% X (6 R, =108000,x=30 a2 8T Ry .2 R'(x)=-18x"+480x+1800

1
18 5 100 2 216 . (8 MC(x)=5 .1 250 5 170 .2 150 .x (7 —3% 2 % a

,Q=800 (10 Ym .7 10.804 » 10.8 .21 C(100)=1240,C(101)=1250.804 .x (9
T =38200 ,Q=800 (13 Q=25 (12 ~7,=-250 ,Q=5 (11 =&, =38200

m,

x=4,y=3600 .2(17 P &Y .a . & (16 TC(Q)=0.02Q°+20Q+5 (14
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Aanva SN nown
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D 270 24 RIN 110INNN NDHIND NVY .NDAINN 272D

qun% @ 120 R0 (BC ) noann norma npyn nn
.0NY @ 40 RIN NDAINN YR NPYN NN

C 29912010 7Y APYND PNNY 1T NDAIND YTHN NPNY DX NN

DNY DMI7IN Y DXWIIT NDDI AMIN 279 Y173 1D TNIRY P"ID 144 NIV NN NMI2H
JYOYN DDIM NPTIND MRAY IMINNN 329 9P PNNNN D02 ININD DMWY DNN Y
20129 1NN N IYIN NN MTN 1NN

4 NN PYRIN P22 P¥PNan SV A ampn . f(x)=6x—x* nepnan nnm

20107V IRINNI 12YN IRNY T2 DIMPIVN MPRD DINIR

2991°0pN 1PN 12%NN NVYW 'O A ATIPIN MW NNd 01N AN

/
v
>

46



% .g(x):%x3 A f(x)=2Vx noypnon mam 8

B > X ,B nmpan oy 1n f(x) Yyw A nTipan nr

Ly -0 VXY 97apn AB »opnw o g(X) Yy omnnn nremw
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2
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X_
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1
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D21955595 DANYH W2 NYPNPNY - 9 DI

Y MY mmpy

NX VLWYI INIXR VLY ,NNTAN DINN XX ,NIKAN NXEZIOBNAN NNX 7511y (1)

NA9N 7Y W NN NINIRY/NAIAN M7 Non

F(x,y)=Inx+Iny (2 f(x,y):%(l

f(xy)=y1-x*—y* (4 f(xy)=x"+y* (3

f,y)=xJy 6  f(xy)=In(x*~y) (5

(2)

f:RZ5R, f(Xy)=100-5x—2y Y 7N NIY NINIEYN N9 DK DY

S 7w wn nR 7Tan? nan v nnipy'? anipyn 11T Y D arKa

3X X
X% y>0 nnmn. f(x,y):{ 4J)r(y zzxj.-m

2uman axpauen iy (X, y)=4,12 yawn nuw ninigyn nx oy

f:RZS5R,, f(xy)= min{%, y} 7¥ WD NIY NIMIRYN Non DX VLY

3)
v nwmnue Y>>0, x>0, u(x,y)=(x+p)y+q) =n
JDIYTR Mipy nnix v nimim- (1,6), (3,2), (0,14) nimpn

J2vinn N'XAIO DNIXRAXN . g -l p DX RXN

? NIIMIN NITIRIN NINIM D79 NIYATRD DAY DRIYN '
JIYITRN NNIY DR VLY . NYII9N IRIYNYT yanT "7y
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npYn MM

NIRAN NINA9N 7Y IR 1TON NI'R'7NN NN N awn (4)

f(x,y)=4x>-3x°y* +2x+3y (1

f(x,y)=xIny (2

2.,4 5|
(only () f(x,y):x yz(\/y+ nY) 3
y*+5y+y’
f(x,y)=(x2+y3)-(2x+3y) (4
fxy) =X (s
X+Y

NINAN NINAI9N 7Y W AToN NIFR'7NN NINTAIN DX awn (5)
f(x y)=4x>-x’y* +4x+10y (1
f(xy)=x"Iny (2

f(x,y,2)=xyz (3

49



(79237 NI DNINYN VW2 DINPIIO YW PINP - 10 P9

N IX DIN'IN ,DIN'OFNY [NIX AIOI NIFUAP NITIF) K¥A NIKAN NIFYPAIDNN TINK 23 2
f (X, y)=8x3+12xy +3y? -18x (1)

f(xy)=x3+y>-3x-12y+20 (2)

f(x,y)=x3+y*-3xy+4 (3)

f(x,y)=3x—x>-2y2+y* (4)

f(xy)=e2" ()

f(x,y)=yvx—y?—x+6y (6)

24,2
f(oy) =22 @)

f(x,y)=e*cosy (8)

. Z2=X3+ Y3 =3Xy+4 nown m (9)

.nown? D"POIRN D'?'YUNN DIYNN NIXRIYA NXR XXN

NLVYY NA'NN "TAN DX 2YN ,7"'no 32 |ND1w NINMSnN Niann 7 an (10)

27N Xin 7w 019N

—2X—2y+ Z2=0 wumy (1, 2,3) NTIINN NI XEN Pnnn DR ’xn (11)

LMD D77 "N naNEn IwmMn Y DTN DX I

.'0al Yaxa ,01awnn dm Ny (12)
.8S N'N 'O [IAawNn NIX' NI7VIE 6S X' YINA 12WNN 7w 11Xt NI
Q, wipan nxiyawa jawnn? Q) wipan Nk i pirwn Yo
2T 9V 'oa 1awnn?

Q, =116—30P, + 20P,
Q, =144 +16P, — 24P,
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nopn nm v, P, -1P ,0nnwnnn mnn nx viap? nonn nonx Ty

? 07T NN I ?NiNn DX
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mnIna

.0mnamn (1.5,-3) ; 9a1x (-0.5,1) (1)
IR (1,-2), (-1, 2) ; omopn (-1,-2) ; nmam (1, 2) (2)
.0mnmn (1,1) ; 921x (0,0) (3)

JoIx (1, -1), (1,1), (-1, 0) ; nm'ojm (1,0) ; omnan (-1, -1), (-1, 1) (4)

.omrojm (4, 4) (6) .om'opm (0,2) (5)
D07 NI X (8) .nmropn (-0.5,4) (7)
.n0 2 MR, po 4 IX, po 4 2NN (10) .z=3,z=4 (9)

. (1/3,4/3,10/3) "nia nang Ty uxk nirne 1 xin mam gnan (1)

. 288S '"ropn NN, P1=10S, P,=12$ (12)

52



(23929 '9919) DINYN MY YV 8PS YW YIYIR NNn PN - 11 PIo

DINYN MY YV NYNYpNs
Jinin YI'?'N'? Q1922 NIXAN NI'XI9N 2w Dimnamni QIN'oNin NX XXN

f(x,y)=x>+y® ; 2x*+3xy =1-2y* (1)
fxy)=x"-y? ; x*+y*=1(2)
f(x,y)=4x+6y ; x*+y*>=13(3)

f(x,y)=xy ; X’ +2y* =6 (4)

Max{xy} st. x+3y=12 jx'pn n"ya nim (5)

ey AL R |NNS Xan .2 .N'YIAN NX NS .X

Max{2x+ y} st. X+.Jy =9 n¥pn newa nuim (6)

ey AL R |NNS Xan .2 .N'YIAN NX NS .X

N79NY IT DR R¥N , X+ 3y =12 W 7V NIRYMIN NITan 73 an (7)

."7YJ'O|7YJ ny'vy

nrmipan nx xxn 2X2 43Xy =1-2y? anipyn 2w nimpn 9 an (8)

N'YUKRIN |PDNY NITH2N DX M1 XN DNY'YD 'WURN DETAARIALY

."7YJ'0|7YJ XIn 0D"'XN

N71119Y 3X—6y+4 =0 wnnnm XN PNnn DX Xxn (9)
X2+ 2xy+y2+4y=0

|ax, +by, +c|

Ja? +b?

NIn ax+by +c=0 win (X5, Y,) ATipn pnin it
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70N N>¥N NWINN NNy A" y -1 01199 A"p x 71wl N n7win (10)
.U(X’ y) =Inx-+In y T 7Y NaIm) (X’ y)

.N"w 2 nimaay A"z 'nn .n"w 1 011997 A" 'nn

Rt 2wy ravn xin IN16 n2uin nnn awin'? mxy? vaig n7ern

.N7¢' N Ny DX INSI D01 NN Niva

200 N>MI¥XN N7YINN .NIM2AY A"R y -1 D199 "R x 71w nap a7 (11)
: U(X’ y) =%y T Y NaIm) (X’ y)

.n"w 3 niMmaay 1"z 'nn .n"w 1 01199'm 1"z 'nn

1T NY'Y2 NN INSIN0Y .N"Y 12 2w axpn 1717
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X2+ y2 =13 x'n Y 01x1 X 1200 2 nmnn nnipy (12)

f(X,y) =4x+6ynwm 117

NX'ann , MInnNn Ny v, (X, y) = (121n,011X) 70N NX woONNn 1T

.N"Y2N NIX 1INSI NO1 .01INI 1211 N>1I¥N 17w N7VINN NIX DIN'ONY?

DN L-1K nTn? onrmn . Q = \/E+\/E X' NUXA9 XY (13)
qin'yn NX wonn Xinl 100 nz1on nna Xyna xa . PK = 2, PL =1

* *
.(Qmon 7X) N¥'N NUya DX NO1 .NI7YN DX DIN'NY X'ann (K L )

mnina

Max (0,+1) min(41,0) (2) Max(+L¥1) min(i 1/7,+ 1/7) @
Max (+2,1) min(£2,1)  (4) Max(2,3) min(-2,-3) (3)
Max(9,36)  (6) Max(6,2)  (5)

Max(+1,¥1) min(+y1/7,+ 1/7) ) (6,2) (7)
min(\/i,\/g) (10) 7145 (9)

Max(2,3) (12) Max(6,2) (L1)

min {2K + L} ;K +4/L=100 (13)
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